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Lesson 10.4

In Exercises 8-10, find each missing length. All lengths are in centimeters.

8. a= 9. c= 10.e =
b = d = f=
[ S [ [
b 15 f
11. What are the coordinates of point A? 12. What are the coordinates of point B?
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Lesson 10.5
1. d=

26 cm

24 cm
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2. What are the coordinates of point C? 3. What are the coordinates of point D?
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In Exercises 4-8, use AABC with vertices A(4, 14), B(10, 6), and C(16, 14). )
,% Determine whether AABC is scalene, isosceles, or equilateral and find its perimeter.

5. Find the midpoints M, N, and P of AE AC, ax'ld. BC, respe_cti'vely_.
6. Find the slopes o'f MN and BC. How do théy conﬁpfire?
7. E_ind the lengths of ]7\/' and A_B- How do-they cé@par-e? -
%r\‘\g»;j Find the equaﬁon ofa circle whosé diameter has the endpoints (4, —6) and (—4 0). |
16 In. the circle with diameter AB, AC=8in and BC = 15 . A -

' Fhe perimeter of AABC (to the nearest tenth of an ingh is)

357 in B. 170in  C. °278in

A. |
D. 400in’ E. None of these - P
. the:figure at the right AB|DE, AD1 AB, 5
i IAqﬁsie'-legand ACsDE. If AB=5and AC= 12, then BE=
A 1838 B. 1¥2  C 13
D. 17 E.  Mone of these
TIE-BREAKER #1

Two v)ir:s are attached to a vertical radio tower that is 60 feet high and then to the ground at points that 109 feet
and 61 feet from the top of the pale. If the points where the wires are attached to the ground and the base of the

pole are in a straight line and theé ground around the pole is level, how far apart are the points on the ground
where the wires are attached? ' ~ T
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lesson 10.4

In Exercises 8-10, find each missing length. All Iengths are in centimeters.

8. a=10/2 4| 9. c= 1002 112 e O, & (77/
b= 54 =112 d= 572 9.0 oo T
g ‘ 51’ (;f -\’—(,7 c 15 153
542 Sin 30~ G d 12 ,ﬁ':‘)v)f%
o ax L 2 it
: =t = 15 ‘ <
6[2‘1‘ v {:Z‘/A 2 ‘b ﬂ:&f/i"[ 4,0= = —{—s- m
11..-What are the coordinates of point A?

12. What are the coordinates of point B?
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Lesson 10.5
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2. What are the coordinates of point C? 3 ‘What are the coordinates of point D?

<—L.ﬁ71@ | — 7 Lﬁ? cw@(’gw

AY A‘{)' 16) (Z

N\DE A;,/rgj

W ) x

A\

(0,-12)



Lesson 1./

In Exercises 4-8, use AABC with vertices A(4 14), B(10, 6), and C(16, -14).
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4, Determme whether AABC' is scalene, 1sosceles or equilateral and find its perimeter.
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6. Find the slopes of Aﬁ\/’ and BC. How do they compare?

5. Find the midpoints M, N, and P of AB, AC, and BC. respectively,

7. Find the lengths of PN and AB. How do-they compare? -
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@ In the circle with diameter AB, AC = 8 in and BC = 15 in.
The perimeter of AABC (to the nearest tenth of an inc'h is)

A 357in B. 170in  C. -278in .

D. 40 Oin’ E. None of these

17. In the fi : figure at th the nght ABHDE ADL AB AD_LDE

AB=CD and AC=DE. If AB =5 and AC=12, then BE =

A. 1838 B. 132 .. c.
D. 17 E.  MNone of these
TIE-BREAKER#i

Y0 wires are attached to a vertical radio tower that is
d 61 feet from the top of the pole. If the points whe
le are in a straight line and thé ground around the = p
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60 feet hxgh and then to the gmund at points that 109 feut
te the wires are attached to the ground and the base of the
ole is leve] how far apart are the pomts on the ground



